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1.  Translate the following passages : 4x4=16

T SR (PRD! SEM A

(@) fE TR Frrwad TRRvEH! | aE feuRa SR e freda | @ 9 gm

(&)

()

B13-SK

W WA RO HARGK I SEdieRd: | F QET AMENSIaaq-3T e
e gafad sweray

Or/ 93y

S guicpeedraT AUl P STeifR: | ST WY gaIsta seEer g
A, AT TR WA ad | T hene g P W] ™ T |

e fe wgwm ke Tee Rg:
TEGITEA 9= Fa0 AR |
Or/ Qe
ARSI afgelt s
o= [0 i v
fra qatufmmdf=
e W EEgeHE I

m:g:ﬁmvwﬁmmwﬁﬁmﬁmﬁ#@ﬂwﬁm—

‘aﬁmmlsa:m@qﬁuﬁ?aﬂsﬁﬁmmaﬂﬁmﬂglwﬁ—ﬁmmﬁﬁmi_

AQafa frarss |

Or/ 993t

ﬁaﬁ?ﬁawmﬂaﬁﬁlﬁnmﬁwmwmﬁm Seidiccicy
T A el qEirsaif 39w & 9 wihar) & Sy - R A
Yoo |’ )
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M

(d) TEEEaIEM WaATDHT T W
Tefsangaaty PNT 3@ AR o
Or/ 9ot
e A9ag | 9E A YFE | 9% 9 aE |
YT | W fafguEgn

2. Explain the following verses with reference to the context :

2% FATS (YRR OFTe Al CIs (20 T I
(@) 3 [HTE Al & CEHONT HeaN: |
e Wi = wiwye Ay faueaq feam
Or / ST
TR 79 UGS H T T4 WO@d P |
Tag, WG wAfGg aegufasmETaEEE: i
b)) T v afEe] w0 9 qdemE: |
=R W @ g9 e qufa e
Or/ &R
TR SRR WY« g e
T YA W EAT AT 1T

3. Expand the idea of the following :
oo fral (IS ©R IR forad -
(@) @ wE wiea fafeafimm |

B13-SK 3
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Or/ g3y

wamfa wreffed e AR
(b) TR WY T
Or/ 99t
fod TRt = goivf o= |
4. Answer the following questions : 4x3=12

TR 2ETART Ted faal

(a) Write a note on the T=9d4 |

slgerd @ «fy G &l

(b)) What do you mean by ‘guRdt' ?

Write the names of any three great poets mentioned in the lesson.

TRERS!” A R @ 2 AOIS BLar R 7 (e fofaer sk = Bl
(c) Answer the following questions in Sanskrit :

CEH 2PITIROR TeT AcFow fera

(F) dieERa g ey o ?

(@) IR vea: e foue foemee sy ?

(1) W Y AW ez yafda 2

() & T O RIS SR ?

B13-SK http://www.gssamboard.com
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5. (a) Answer the following :

B13-SK

O AR B forel

(i) How does the mind of the grcat remain at the time of adversity ?

(ii)

(iii)

(v)

)

(vi)

Reire T8 (FRPRER TER @ SRS A ?

TS foard foe @@ s ?
What did the lion consider and whom did he invite ?

Pitaz & Koo ok oI o1 wig 3R 2

W WAt e

Fill in the blank in the statement.

IRIART AR 9T 77T |

foasw ¥R = == fg anffwan)
Write the meaning of the statement clearly.

Al i reis Bt
FRATNE FHAARIGA |
Elucidate the idea of the statement.

AT 9 3R Bl

Name two Ankiya dramas written by Shrimanta Shankaradeva.

HE 1A A1 3 73 SR bR I o

http://www.assamboard.com
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®)
6. (a)
BI3-SK

(i)

(i)

(iii)

(iv)

(v)

(vi)

Give one Sanskrit equivalent of the term '39g’1

‘YRR A Afoew afb T |

Who is the author of fedmey ?

fRroteieme Sz @i 2

The 39f9gs are known as
Toiferaw AR

e Tt IR A 3R oot =)

5T was the king the city of WT¥ / ¥RT / T

Select the correct word.

u% o 3y Tlenedt |

Whom do you mean by ‘Somgf’ ?
A et 1w &= 2

T was the son of P

Say ‘yes’ or- ‘no’.

O (FRDIR Sja Wik | T @ = @R

Account for case-ending in any two of the following :

e in Q. No. 1 (@) [ 1 (a) &sf® ]

W in Q. No. 1 () [ 1 % (¢) 2%e ]

WR%: in Q. No. 1 (@) [ 1 7 (@) 2@ ]

¥ in Q. No. 2 (@) or [ 2 7 (a) T 2% |

6
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()

-
i
8

®)

" BI3-SK

Derive any tweo of the following : 2x2=4

R frrrat qhra Jeeife fada =i :

free: in Q. No. 1 (@) [ 1 8 (a) &5 ]
@ in Q. No. 1 (@) or [ 1 T (a) &2 25 |
e in Q. No. 1 (¢) or [ 1 W (c) &I %@ |

IFA in Q. No. 1 (@) or [ 1 M (@) &N NS |

Decline any two of the following : 1Y%4x2=3
w Rrerear goi =@t fovf

WFE in 9 plural [ AL IROEAC |

T in WS duel [ T9R fagoe |

Y in =gl singular [ PR GFWBA |

WHW in WO singular [ T9IT GO |

Conjugate any two of the following : | 144x2=3
R Rl WA agse f

Vug in 9= & (@ Refes &)

V& in 2 " (5 Refe 1 )

V7E in &g g (718 Refea )

V3 in 9% g (&l Refer )

7 ' Contd.
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(©

(d)

(e

B13-SK

Change tl_le voice of any two of the following: 2x2=4
SR [ATFIC {517 D)~k Salk

() T T g

(if) T P TS |

(iif) FA TBfA WA ?

(iv) 3® =S qEEIE|

Name and expound any one of the following compounds : . 2

IRk TR o1 Rrenar BrrAasE am &l :

e, gfufee:, e |
Define and illustrate &0 R | | 2+1=3
TARAPTR 3= I3 v foddl |
Or/ gy
_ Give examples of any two of the following in suitable sentences : - 1%ax2=3
Bolgw TS ek [RTPITAT FO19 TwiEad gl

(i) HeTERREEan G

(i) AAGIARRC |

8
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(iii) =gl TR |

(iv) W gt

Give the resultant forms of any twe of the following :

word fArRerTar {O1F ool ot fordl
@) N fore + T f
i) g+ forg + @
(iii) N+ § + o fa

(iv) Vug + & + @ fq

8. Translate into Sanskrit any four of the following sentences :
WeR AT BIRGI Tl S =
(a) India is our motherland.
SRS SR NP |
(b) 1 see an clephant on the road.
1% 36e ¢t 2 @R |
(c) Sanskrit is a very sweet language.
AP b1 WS FF SRl
B13-SK 9
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(d)

(e)

B13-SK

Sita went to forest with Rama.

IR 5T Aol Aee Caifze |

Where ar¢ you going now ?

wfil ufsal 97T g ?

The sky is covered with clouds.

BT TRE WRR[E S|

10
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2013
SANSKRIT
Full Marks : 100
Pass Marks : 30
Time : Three hours
(OLD COURSE)
[ For unsuccessful HSLC Private Carz;'ift!ares of 2012 and earlier |

The figures in the margin indicate full marks for the questions.

1. Translate the following passages : 5x4=20

WWWQ@T:.

(@) I W —vaE goviveav e IR — F ¥ IEwh ? R | — & A
AT G | TEE — JaoIedT | degal dRatvatad: | 31 AEwey — <dl.. |

Or/ 9T

Tegel T UhHY gF yRisTEm: WGy GAeanT: e | O SISy
foerar &g ? wEfay oo e fafdm: vemen:

(b) TEATTAEET HAM ) WoeTes fat aErfa wewE aur e @ ghie |
Rare, T o fagmmone wwa=e st i 7 <0

B13-SK 11 Contd.
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Or/ |1

TR A — 3 TR gow:, FRaft Ted | v WAty e 7w

TS — e TI 1 =0 91 7 viaed @ e a9 e ) e S9N — R
Hfgfad am= )

(c) == ey faudy siwwrd @ o waifus wfafa) siwvmeass miemsagTia
T SieTe gt | faamia aremesr wmage |
Or/ 91
& q TS TREE W SR 9 e — i st
TAY: W | TeTE O IS ead | A gg et fasmesdermte |
() TRgd 7 @y faende e
oy feefaear fatafa @ |
foet g7 gy wioe=mmm

ARSPTAET 7 IRl
Or/ &3

T 4 A T waf< faee)
A 7 @ A e a&F o ade

2.  Explain the following verses with reference to the context : 7x2=14

2 ARG O IR CIRFAR I 3= ¢

(q) SETATAEA YA ol 9|
TA Eeug: @ qaesid w81 Soe

B13-SK 12
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Or/ S

(®) A T EHAgReT gl

(S}

o Rt gore o 9z o
(@) e warad ofer Ferll yHunR |
Or/ et
SYIAT Bl Fr9eeld g
(b) &I G Nt F S e
Or / et
ekl GHC U I E T B TUG I LY

B13-SK 13
http://www.assamboard.com

Expand the idea contained in any two of the following :

5x2=10
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4.  Answer the following : 5x3=15.
TR 2ATRR0R Ged el

(@)

(@)

B13-8K

dig= 9 g = ofgunegssaa: |
I | @k A g 7 wfaafa

Who said so ? Why did the speaker say so ? Explain.

SRR (I LA 2 IoR G e oafem, i =94 |
Or / Yt

Elucidate the idea contained in the following statement :

ol AR 4 ORi Izee ol

gf=fe s @ faad frad afa)

mﬂmi Hugi gfere: |

What do you mean by the term 'gf&ars" here ? Mention the ‘e’ with reference
to the wealth of a misecrly person.

3 GRAR XA [F IGR0Z 2 TR TS LA (A Eﬁf’fi‘lﬁw Trd A |
Or / =Y

Fill in the gaps in the following verse :

TR R R R A

CRLS S ) I L —

e el Coi I

14
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(c) Write what is said by Amarcsha (3T93) about his aim in life.

A (9€7 GiIs SowiE Rata & 3t el

Or/ 31
TEIYE, T UREATE qeraweHea: A sfeeti

Who says so ? How does the speaker explain his aim in life ?

% WA (A (DR 2 IGIB (09 GRTT S (A 1A AT ¢

http://www.assamboard.com

5. Answer the following questions as directed :

(@ ' @ e s’
Who said so ? To whom was it said ?

TR IR B S T (il Tae

(b) What do you mean by gfgyeeT ?
AT T &= 2

(c) Toame Hewmy Feurafavig |

1+1=2

In which of your lessons does this statement occur ? Who is addressed as ' framg’

here ?

2

T AR (SR (DI A5 SR ? 3 ‘fHeR’ g T AT 4 (2T ¢

(d) 1low many 9&Us arc therc in the W@IYRG ?

TEOROS (2! *iF TE ?

BI3-SK 15
http://www.assamboard.com
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6. (a P;ccoum for case-endings in any two of the following :

@)

R fren 15 RS Refe ffa 3=
AfAfE: in Q. No. 1 (@) [ 1 R (@) 249 ]
T in Q. No. 1 () [ 1R (b) 2 ]
famdg in Q. No. 1 (@) [ 1 78 (¢) &S ]

fo=s37 in Q. No. 1 (@) [ 1 R (@) =%© ]

Derivc any two of the following :

o) Rl o1y Jecife fRda =

WinQ.No.l@)[lm(b)ﬁﬁ@]

| TEeaq in Q. No. 1 (B) [ 1 78 (B) &337 &S |

(t)

B13-SK

YR in Q. No. 1 (@) [ 1 =R (d) 2% ]

3¢ in Q. No. 3 (@) or [ 1 R 3(a) T2 &S |

Name and cxpound any swo of the following :
e RTFICAT [P IORITHZ TR A foralf

T in Q. No. 1 (B) [ 1 R (b) %S ]

¥9=3: in Q. No. 1 (b) Or [ 1 7R (b) G 2051 |
FETagaE: in Q. No. 2 (@) [ 2 ™ (a) &5 ]
et in Q. No. 4 (@) [ 4 7 (a) 2% ]

16
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(d) Change the voice of any one of the following :

®)

B13-SK

S R G519 Ay ARada =

(i) ol dRaEEtaa: |

(i) W41 AUrEAAIY YTeEr 9 wifmad |

Decline any two of the following : - 1%%2=3

o Rt g =t o -

gl in 34T plural [ TSR IH7© |
3 in W singular [ AYTR GBS |
1Y in €9 plural [ ¥HR IZIH7© |

98 in 31 singular [ TORR 4IGT© |

Conjugate any two of the following : 1%2x2=3

Sa TRl g gt T

V &g in fafufers third person singular (fafufag Refe 2w 7R @36ws )
V¥t in @2 third person plural ( ¥R Refea 2o «sq I53579 )
Vfa=1 in I third person singular (¢7g ReRF 24w 47T 3B )

V&0 in fafufeg second person singular (fafuferg Refes waw ovea usHwS )

17 Conid.
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(c) Framc scntences to illustrate the use of any nwe of the following :

(d)

B13-SK

O LRI RO ATl (w433 Ak /=1 3
39 g |

YRETHO: |

HURH Yot |

ava oy

Give the resultant forms of any nwve of the following :

SR frian gorR fFrom el v
R + a1+ g (D
T+ R+ g (D
VF + v + g ()

VI + W + g (9)

Correct any two of the following :
o] AT BT oT A

() aEa: wewm e

(i) | g daq)

(if) TRNIE: R e |

(iv) vdaeg frew 3§ foed

18
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Translatc into Sanskrit any twoe of the following :

o TP {51 A AGFOLE SeEim 4

(a) This is the cottage where Rama lived with Sita

% FORA0S AT AR FAse I FREE |

(b) Brave men arc not afraid of death.

AR AE JYE O TG |

(c) A wise man is respecied everywhere.

G TS 0 90 SR FAE |

(d)  'When will your mother come ?

CoOlTE W (el Tz 2

http://www.assamboard.com
Whatsapp @ 9300930012
Send your old paper & get 10/-
o= gUe 9ud Koy 3R 10 sud urd,

Paytm or Google Pay &
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